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1954 | 1-101 | 83070159-26 | PY=#)JT 2| 2.9( 128.99| 20.81 | 149.8 6850 1026130 | *&
1954 | 1-102 | 83070159-27 | Y= 5T 2| 2.9( 116.45( 18.79 | 135.24 6750 912870 | X&
1954 | 2-101 | 83070159-28 | Y= 5T 2| 2.9( 116.45( 18.79 | 135.24 6750 912870 | X&
1954 | 2-102 | 83070159-29 | PY=#)T 2| 2.9( 128.99| 20.81 | 149.8 6850 1026130 | &
1954 | 1-201 | 83070159-30 | PU=Z= /T 2| 2.91128.99 | 20.81 | 149.8 7300 1093540 | k&
1954 | 1-202 | 83070159-31 | Y= 5T 2| 2.9( 116.45( 18.79 | 135.24 7190 972376 | X&
1954 | 2-201 | 83070159-32 | Y= 5T 2| 2.9( 116.45( 18.79 | 135.24 7190 972376 | X&
1954 | 2-202 | 83070159-33 | PUE /T 2| 2.91 128.99 | 20.81 | 149.8 7230 1083054 | k&
1954 | 1-301 | 83070159-34 | PY=#)JT 2| 2.9( 128.99| 20.81 | 149.8 7400 1108520 | K&
1954 | 1-302 | 83070159-35 | PU=P /T 2| 29| 116.45| 18.79 | 135.24 7340 992662 | k&
1954 | 2-301 | 83070159-36 | PU= /T 2| 29| 116.45| 18.79 | 135.24 7340 992662 | k&
1954 | 2-302 | 83070159-37 | PY= )T 2| 2.9( 128.99| 20.81 | 149.8 7380 1105524 | X&
1954 | 1-401 | 83070159-38 | PUZ= /T 2| 2.91 128.99 | 20.81 | 149.8 7500 1123500 | K&
1954 | 1-402 | 83070159-39 | PU=P /T 2| 29| 116.45| 18.79 | 135.24 7440 1006186 | K&
1954 | 2-401 | 83070159-40 | Y=7p5)JTPH 2| 2.9( 116.45( 18.79 | 135.24 7440 1006186 | <&
1954 | 2-402 | 83070159-41 | PY=#)JT 2| 2.9( 128.99| 20.81 | 149.8 7480 1120504 | *&
1954 | 1-501 | 83070159-42 | PY=p#)JT 2| 2.9(128.99| 20.81 | 149.8 7510 1124998 | X&
1954 | 1-502 | 83070159-43 | Y= 75T 2| 2.9( 116.45( 18.79 | 135.24 7450 1007538 | *&
1954 | 2-501 | 83070159-44 | Y=p5)TPH 2| 2.9( 116.45( 18.79 | 135.24 7450 1007538 | *&
1954 | 2-502 | 83070159-45 | PY= )T 2| 2.9( 128.99| 20.81 | 149.8 7490 1122002 | *&
1954 | 1-601 | 83070159-46 | PY=#)JT 2| 2.9( 128.99| 20.81 | 149.8 6910 1035118 | *&
1954 | 1-602 | 83070159-47 | Y=y 2| 29| 116.45( 18.79 | 135.24 6850 926394 | X&
1954 | 2-601 | 83070159-48 | Y= )T 2| 2.9( 116.45( 18.79 | 135.24 6850 926394 | X&
1954 | 2-602 | 83070159-49 | PY=#)JT 2| 2.9( 128.99| 20.81 | 149.8 6890 1032122 | X&
2054 | 1-101 | 83070160-26 | PY=p/T | 2.9 128.99  20.81 | 149.8 6850 1026130 | *&
205%% | 1-102 | 83070160-27 | PY=p/T N L[ 2.9]| 116.45| 18.79 | 135.24 6750 912870 | X&




2054 | 2-101 | 83070160-28 | PY= /Ty 1L | 2.9 | 116.45| 18.79 | 135.24 6750 912870 | K&
205%% | 2-102 | 83070160-29 | Py | 2.9 128.99 | 20.81 | 149.8 6850 1026130 | *&
2054 | 1-201 | 83070160-30 | PUZp5)/TPH [ 2.91 128.99 20.81 | 149.8 7300 1093540 | k&
2054% | 1-202 | 83070160-31 | PY=p/T | 2.9 116.45| 18.79 | 135.24 7190 972376 | K&
2054% | 2-201 | 83070160-32 | PY = /T 1| 2.9 116.45| 18.79 | 135.24 7190 972376 | K&
205#% | 2-202 | 83070160-33 | Y= py/T M 12| 2.9 128.99 | 20.81 | 149.8 7230 1083054 | K&
205%% | 1-301 | 83070160-34 | Py | 2.9 128.99 | 20.81 | 149.8 7400 1108520 | &
205#% | 1-302 | 83070160-35 | PY= /T 1L | 2.9 | 116.45| 18.79 | 135.24 7340 992662 | K&
2054 | 2-301 | 83070160-36 | PY= /T 1L | 2.9 | 116.45| 18.79 | 135.24 7340 992662 | K&
2054% | 2-302 | 83070160-37 | PY=py/T | 2.9 128.99 20.81 | 149.8 7380 1105524 | K&
205# | 1-401 | 83070160-38 | PUZ /TP [ 2.91 128.99 ( 20.81 | 149.8 7500 1123500 | &
2054 | 1-402 | 83070160-39 | PY= /T TL | 2.9 | 116.45| 18.79 | 135.24 7440 1006186 | X&
2054 | 2-401 | 83070160-40 | PY=py /Ty IL | 2.9 | 116.45| 18.79 | 135.24 7440 1006186 | X&
2057%% | 2-402 | 83070160-41 | PY=py/T | 2.9 128.99( 20.81 | 149.8 7480 1120504 | K&
2054 | 1-501 | 83070160-42 | Py | 2.9 128.99  20.81 | 149.8 7510 1124998 | K&
2054 | 1-502 | 83070160-43 | PY= /TP TL | 2.9 | 116.45| 18.79 | 135.24 7450 1007538 | X&
205#% | 2-501 | 83070160-44 | PY= /TRy L | 2.9 | 116.45| 18.79 | 135.24 7450 1007538 | X&
2054 | 2-502 | 83070160-45 | PY=p/T | 2.9 128.99 | 20.81 | 149.8 7490 1122002 | k&
2054 | 1-601 | 83070160-46 | PY =P/ | 2.9 128.99( 20.81 | 149.8 6910 1035118 | X&
2054 | 1-602 | 83070160-47 | PY= )T TL | 2.9 | 116.45| 18.79 | 135.24 6850 926394 | K&
2054 | 2-601 | 83070160-48 | PY= /7§ L | 2.9 | 116.45| 18.79 | 135.24 6850 926394 | K&
2054 | 2-602 | 83070160-49 | PY=py/T | 2.9 128.99 | 20.81 | 149.8 6890 1032122 | k&
215# | 101 |83070161-13 | pu=pmi/T L [2.9]121.45( 20.71 | 142.16 6810 968110 | K&
215+ | 102 |83070161-14 | pu=pi/Ti 2 |2.91128.99 | 21.99 | 150.98 6790 1025154 | *&
215# | 201 |83070161-15| pu=pi/T L [2.9]121.45( 20.71 | 142.16 7250 1030660 | K&
215# | 202 |83070161-16 | pu=pi/T L |2.91128.99 | 21.99 | 150.98 7230 1091585 | K&
215t | 301 |83070161-17 | MU=y |2.9]121.45( 20.71 | 142.16 7430 1056249 | K&
215+ | 302 |83070161-18 | pu=pi/T L |2.91128.99 | 21.99 | 150.98 7410 1118762 | K&
2154 | 401 |83070161-19 | pu=pi/Tm L 2.9]121.45( 20.71 | 142.16 7530 1070465 | *&
215+ | 402 |83070161-20 | pu=pi/Ti 2 |2.91128.99 | 21.99 | 150.98 7510 1133860 | *&
215# | 501 |83070161-21 | pu=pi/T L [2.9]121.45( 20.71 | 142.16 7010 996542 | K&
215+ | 502 |83070161-22 | pu=pi/Ti L |2.9]128.99 | 21.99 | 150.98 6990 1055350 | *&
225%% | 1-101 | 83070162-37 | PY= /T | 2.9 121.45( 19.83 | 141.28 6820 963530 | K&
225#% | 1-102 | 83070162-38 | Y=/ T2 | 2.9 [ 123.86 | 20.23 | 144.09 6760 974048 | K&




2251 | 2-101 | 83070162-39 | Y= py/T M 12| 2.9 [ 123.86 | 20.23 | 144.09 6760 974048 &
2251 | 2-102 | 83070162-40 | PY=py/T R T2 | 2.9 [ 116.45| 19.02 | 135.47 6760 915777 RE
2251 | 3-101 | 83070162-41 | PY=py/T R 12| 2.9 [ 116.45| 19.02 | 135.47 6760 915777 RE
2251 | 3-102 | 83070162-42 | U= y/T M 1| 2.9 125.79 | 20.54 | 146.33 6800 995044 &
2251 | 1-201 | 83070162-43 | PY= /TR 12| 2.9 [ 121.45| 19.83 | 141.28 7260 1025693 | K&
2251 | 1-202 | 83070162-44 | PY= /TR T2 | 2.9 [ 123.86 | 20.23 | 144.09 7200 1037448 | K&
2251% | 2-201 | 83070162-45 | Y= py/T R T2 | 2.9 [ 123.86 | 20.23 | 144.09 7200 1037448 | K&
2251 | 2-202 | 83070162-46 | Y= py/T R 2| 2.9 [ 116.45| 19.02 | 135.47 7200 975384 &
2251 | 3-201 | 83070162-47 | PY= /T 2| 2.9 116.45| 19.02 | 135.47 7200 975384 &
22571 | 3-202 | 83070162-48 | U= y/T M 1| 2.9 125.79 | 20.54 | 146.33 7240 1059429 | K&
2251 | 1-301 | 83070162-49 | PY=py/T R 12| 2.9 [ 121.45| 19.83 | 141.28 7410 1046885 | K&
2251 | 1-302 | 83070162-50 | Y=/ 12| 2.9 [ 123.86 | 20.23 | 144.09 7350 1059062 | K&
2251 | 2-301 | 83070162-51 | PY=py/T M5 12| 2.9 [ 123.86 | 20.23 | 144.09 7350 1059062 | K&
2251 | 2-302 | 83070162-52 | PY= /TR 2| 2.9 [ 116.45| 19.02 | 135.47 7350 995705 RE
225#% | 3-301 | 83070162-53 | Y= py/T R 12| 2.9 [ 116.45| 19.02 | 135.47 7350 995705 RE
2251 | 3-302 | 83070162-54 | U= y/T 1| 2.9 125.79 | 20.54 | 146.33 7390 1081379 | K&
225#% | 1-401 | 83070162-55 | PY=py/T R 12| 2.9 [ 121.45| 19.83 | 141.28 7510 1061013 | K&
2251 | 1-402 | 83070162-56 | Y= py/T 5 T | 2.9 [ 123.86 | 20.23 | 144.09 7450 1073471 | K&
225#% | 2-401 | 83070162-57 | PY=py/T R 12| 2.9 [ 123.86 | 20.23 | 144.09 7450 1073471 | K&
2251 | 2-402 | 83070162-58 | Y= py/T R 12| 2.9 [ 116.45| 19.02 | 135.47 7450 1009252 | K&
2251 | 3-401 | 83070162-59 | PY=py/T R 2| 2.9 [ 116.45| 19.02 | 135.47 7450 1009252 | K&
22571 | 3-402 | 83070162-60 | U=/ M 1| 2.9 [ 125.79 | 20.54 | 146.33 7490 1096012 | K&
2251 | 1-501 | 83070162-61 | Y= py/T 5 T2 | 2.9 [ 121.45| 19.83 | 141.28 7520 1062426 | K&
2251 | 1-502 | 83070162-62 | Y= py/T M5 T2 | 2.9 [ 123.86 | 20.23 | 144.09 7460 1074911 | K&
225#% | 2-501 | 83070162-63 | Y= py/T M5 T2 | 2.9 [ 123.86 | 20.23 | 144.09 7460 1074911 | K&
2251 | 2-502 | 83070162-64 | Y= py/T R T2 | 2.9 [ 116.45| 19.02 | 135.47 7460 1010606 | K&
225#% | 3-501 | 83070162-65 | Y= py/T M T2 | 2.9 [ 116.45| 19.02 | 135.47 7460 1010606 | K&
2251 | 3-502 | 83070162-66 | U=/ 1| 2.9 [ 125.79 | 20.54 | 146.33 7500 1097475 | K&
2251 | 1-601 | 83070162-67 | PY=py/T T2 | 2.9 [ 121.45| 19.83 | 141.28 6920 977658 RE
2251 | 1-602 | 83070162-68 | Y=y /T M5 .| 2.9 [ 123.86 | 20.23 | 144.09 6860 988457 RE
2251 | 2-601 | 83070162-69 | Y= py/T M5 T2 | 2.9 [ 123.86 | 20.23 | 144.09 6860 988457 RE
2251 | 2-602 | 83070162-70 | Y= py/T R 2| 2.9 [ 116.45| 19.02 | 135.47 6860 929324 &
2251 | 3-601 | 83070162-71 | PY= /TR 2| 2.9 116.45| 19.02 | 135.47 6860 929324 &
2251 | 3-602 | 83070162-72 | U= py/T 1| 2.9 125.79 ( 20.54 | 146.33 6900 1009677 | K&




E: ERRIMIEASAEH 4B T E.



